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ANSWERS FOR 5.3

For use with pages 267-270

5.3 Guided Practice
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Sample answer: The product
property says that the square
root of a product equals the
product of the square roots.
The quotient property says
that the square root of a
quotient equals the quotient
of the square roots.
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5.3 Practice and Applications
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a. h = —1612 + 20

b. 1.1 sec

~28.1 knots

a. about 88.4 mi/h

b. No; Sample answer:
When P = 40 1b/ft?,
speed 1s 125 mi/h which
is not 2 * 88.4.

c. Sample answer: The wind
speed value 1s squared in
the formula and squaring
increases the pressure
value quickly.



Algebra 2 Answer Transparencies

Copyright © McDougal Littell Inc.

ANSWERS FOR 5.3 (CONT.)

For use with pages 267-270

5.3 Mixed Review
76. (2, 3) 78. (—1,4)
1 -5
80. (4,0 82. [18 O]
12 —20 4
84. [—16 16 —32}

86. y = x2 + 3x — 10
88. y = 2x% + 15x + 28
90. y = x% — 6x + 10
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Math and History
2. y = 0.1542x% — 0.3084
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